

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

https://prod-fin.wvoasis.gov/webapp/prdfin11/Advantage	
WOASIS	Jump to: FORMS 🟦 💿 🤝 Home 🔑 Personalize 🚳 Accessibility 🛜 App Help 🌾 About
Welcome, Lu Anne Cottrill Pro	curement Budgeting Accounts Receivable Accounts Payable
Solicitation Response(SR) Dept: 0506 ID: ESR0206200000004590 Ver.: 1 Function: New	Phase: Final Modified by batch, 02/19/2020
Header	
	List View
General Information Contact Default Values Discount Document Information	
Procurem ent Folder: 668804	SO Doc Code: CRFQ
Procurem ent Type: Central Master Agreement	SO Dept: 0506
Vendor ID: 000000219494	SO Doc ID: CME200000001
Legal Name: EXTRA PACKAGING LLC	Published Date: 2/12/20
Alias/DBA:	Close Date: 2/19/20
Total Bid: \$840,080.00	Close Time: 13:30
Response Date: 02/06/2020	Status: Closed
Response Time: 13:10	Solicitation Description: Addendum No.02 - Body Bags
	Total of Header Attachments: 0
	Total of All Attachments: 0



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

	Proc Folder: 668804 Solicitation Description: A	ddendu	n No.02 - Body Bags		
F	Proc Type : Central Maste	r Agreer	nent		
Date issued	Solicitation Closes	Solicita	tion Response	Version	
	2020-02-19 13:30:00	SR	0506 ESR0206200000004590	1	
VENDOR				·	

00000021	9494

EXTRA PACKAGING LLC

Solicitation Nu	ımber:	CRFQ	0506	CME2000000001			
Total Bid :	\$840,08	80.00		Response Date:	2020-02-06	Response Time:	13:10:33
_							

Comments:

FOR INFORMATION CONTACT THE BUYER		
John W Estep		
(304) 558-7839 john.w.estep@wv.gov		
Signature on File	FEIN #	DATE
All offere subject to all terms and conditions contained in thi	a calisitation	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Medical Body Bag-Prenatal YR1	1000.00000	EA	\$1.370000	\$1,370.00
Comm Codo	Monufacturer	Specification		Madal #	

Comm Code	Manufacturer	Specification	Model #	
42261602				

Extended Description : PRICING FOR CONTRACT TERM YEAR 1

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Medical Body Bag-Infant YR1	1000.00000	EA	\$4.000000	\$4,000.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Des	scription : PRICING FOR CONTRAC	T TERM YEAR 1			
	The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume				

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Medical Body Bag-Child YR1	1000.00000	EA	\$7.700000	\$7,700.00

Comm Code	Manufacturer	Specification	Model #		
42261602					
Extended Descrip	otion : PRICING FOR C	ONTRACT TERM YEAR 1			
The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volur for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.					

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Medical body bag-Adult Large YR1	10000.00000	EA	\$9.280000	\$92,800.00
Comm Code	Manufacturer	Specification		Model #	
42261602		· ·			
Extended Des	The Pricing Pages contain	n a list of the Contr the approximate vo			use volume. The estimated purchase volume only. No future use of the Contract or any

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Medical body bag-Adult X-Large YR1	5000.00000	EA	\$20.830000	\$104,150.00

Comm Code	Manufacturer	Specification	Model #	
42261602				

Extended Description : PRICING FOR CONTRACT TERM YEAR 1

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Medical Body Bag-Prenatal YR2	1000.00000	EA	\$1.370000	\$1,370.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Des	scription : PRICING FOR OPTIONAL	RENEWAL YEA	R 2		
	The Pricing Pages contain	a list of the Cont	ract Items an	d estimated purcha	ase volume. The estimated purchase volume

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Medical body bag-Infant YR2	1000.00000	EA	\$4.000000	\$4,000.00

Comm Code	Manufacturer	Specification	Model #	
42261602				
Extended Descrip	otion : PRICING FOR O	PTIONAL RENEWAL YEAR 2		
	for each item rep	s contain a list of the Contract Iten resents the approximate volume of guaranteed or implied.	ns and estimated purchase volume. The estimated purchase anticipated purchases only. No future use of the Contract o	volume r any

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	Medical body bag-Child YR2	1000.00000	EA	\$7.700000	\$7,700.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Description : PRICING FOR OPTIONAL RENEWAL YEAR 2 The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase vol for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or an individual item is guaranteed or implied.					

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Medical body bag-Adult Large YR2	10000.00000	EA	\$9.280000	\$92,800.00

Comm Code	Manufacturer	Specification	Model #
42261602			

Extended Description : PRICING FOR OPTIONAL RENEWAL YEAR 2

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Medical body bag-Adult X-Large YR2	5000.00000	EA	\$20.830000	\$104,150.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Des	scription : PRICING FOR OPTIONA	L RENEWAL YEA	R 2		
	The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume				

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Medical Body Bag-Prenatal YR3	1000.00000	EA	\$1.370000	\$1,370.00

Comm Code	Manufacturer	Specification	Model #	
42261602				
Extended Descrip	otion : PRICING FOR O	PTIONAL RENEWAL YEAR 3		
	for each item rep		s and estimated purchase volume. The estimated purcha anticipated purchases only. No future use of the Contract	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Medical body bag-Infant YR3	1000.00000	EA	\$4.000000	\$4,000.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Des	The Pricing Pages conta	ain a list of the Cont the approximate vo	ract Items ar		nase volume. The estimated purchase volume only. No future use of the Contract or any

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	Medical body bag-Child YR3	1000.00000	EA	\$7.700000	\$7,700.00
Comm Code	Manufacturer	Specification		Model #	
42261602					

Extended Description : PRICING FOR OPTIONAL RENEWAL YEAR 3

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount	
14	Medical body bag-Adult Large YR3	10000.00000	EA	\$9.280000	\$92,800.00	
Comm Code	Manufacturer	Specification		Model #		
42261602						
Extended Des	scription : PRICING FOR OPTION	AL RENEWAL YEA	R 3			
	The Pricing Pages conta	The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume				

for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Medical body bag-Adult X-Large YR3	5000.00000	EA	\$20.830000	\$104,150.00

Comm Code	Manufacturer	Specification	Model #
42261602			
Extended Descrip	otion : PRICING FOR O	PTIONAL RENEWAL YEAR 3	
	for each item rep		and estimated purchase volume. The estimated purchase volu anticipated purchases only. No future use of the Contract or any

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	Medical Body Bag-Prenatal YR4	1000.00000	EA	\$1.370000	\$1,370.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Des	Extended Description : PRICING FOR OPTIONAL RENEWAL YEAR 4				
	The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.				

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	Medical body bag-Infant YR4	1000.00000	EA	\$4.000000	\$4,000.00
Comm Code	Manufacturer	Specification		Model #	
42261602					

PRICING FOR OPTIONAL RENEWAL YEAR 4 **Extended Description :**

individual item is guaranteed or implied.

Medical Body Bag - Adult Large

YR4

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
18	Medical body bag-Child YR4	1000.00000	EA	\$7.700000	\$7,700.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended Description : PRICING FOR OPTIONAL RENEWAL YEAR 4 The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase vol for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or an					

Line Comm Ln Desc Unit Issue Unit Price **Ln Total Or Contract Amount** Qty 19 10000.00000 EA \$9.280000 \$92,800.00

Comm Code	Manufacturer	Specification	Model #	
42261602				
Extended Descript	ion : PRICING FOR O	PTIONAL RENEWAL YEAR 4		
	for each item rep	es contain a list of the Contract Item resents the approximate volume of guaranteed or implied.	is and estimated purchase volume. The estimated purchase anticipated purchases only. No future use of the Contract of	e volume or any

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
20	Medical body bag-Adult X-Large YR4	5000.00000	EA	\$20.830000	\$104,150.00
Comm Code	Manufacturer	Specification		Model #	
42261602					
Extended De	Extended Description : PRICING FOR OPTIONAL RENEWAL YEAR 4				
The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase v for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or individual item is guaranteed or implied.				hase volume. The estimated purchase volume s only. No future use of the Contract or any	